Name Date

Puzzle Time

What Is Always In Its House, No Matter Where
It Goes?

Circle the letter of each correct answer in the boxes below. The circled letters will spell
out the answer to the riddle.

Complete the sentence.
1. Ina 45°-45°-90° triangle, the hypotenuse is times as long as each leg.

2. A 45°-45°-90° triangle is a(n) right triangle that can be formed by
cutting a square in half.

3. Ina 30°-60°-90° triangle, the hypotenuse is twice as long as the shorter leg, and
the longer leg is times as long as the shorter leg.

Find the value of x. Write your answer in simplest form.
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